The Battle of Bannockburn was fought June 23-24, 1314. In this battle the forces of King Robert the Bruce of Scotland defeated the army of King Edward II of England. in King Edward's army:
.. .were 3,000 Welsh longbowmen — so proficient they could have five arrows airborne at the same time.

Later in this same source we read about the Battle of Cre'cy  on Aug. 26, 1346. Here the forces of England's King Edward III defeated the army of King Philip VI of France. A passage tells more about the longbow:

The ace in Edward Ill's pack during the Battle of Cre'cy was undoubtedly the longbow. A Welsh invention, it has been developed by his grandfather Edward I for use against the Scots in the Highlands. Made of yew, 6 feet long, it could fire up to 12 arrows a minute in skilled hands. Deadly accurate at 200 yards, its 3-foot iron-tipped arrows were capable of carrying an​other 100 yards if necessary. The effect of its lethal hail was at the same time destructive and demoralizing.
Your Assignment
(shouldyou wish to accept it)
Here we have some quantitative assertions that may or may not be accurate.
Your assignment is to make a detailed explo ration of these assertions, searching for consistencies and inconsistencies, and then to present what you think is a reasonable set of statements about the performance of the Welsh longbow in skilled hands.

Let us assume that the first assertion refers to a single longbowman, and for simplicity, please assume that the arrows are point particles mov​ing through the air without friction.
